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3T

T YT B & T a1 39 36 TUe0 Rt St USaid 3Tevd R o foh SHH Sig fod1 ®91, el
I eI I TS N YA MR A €l AR T 7, A 39 W wdieror yfent @ a5 o

FUA & W TR OMR SW-Uaeh W 3fom T W U@ &R ofiv udterur Yieert 3Teh| C o
D & & | Ta fomr fohedt ok o fawmfa & 9 iR geag & & et safigar &t
fowdt ot v ot oen/fadmfa =t fearfa § sw-uses T &Y fear smom

39 a0 giEden W E1Y | T MU e | AT
YT SThish foremT &1 wer gl W eIk %8 7 foag

79 Fherr et § 80 weiY (WeA) faU U 1 gk weAe fee SR SUsh S § v Bl Wk WA
T =R SR (SR) fRu T &) 370 ¥ Th YRR h gH o, 9 oY ST W Sifehd i =med
g1 afg emuent T o for Uk W oifush YR Wt ¥, Al SU YT i Sifehd Y S SRl Hetew |
Tk YISl % oIy sherel U € WegeR I 2

TR ST T Y ererm W fRu T SwR-wre W e siferd v B sw-we 1 fRu w e 3w
et geAIel & ek TuH |

T UEd foh o9 Wi gt & fafv= geil & U SW-T9a W AfRd HE YE B, AR
TAY FHO-US o W Ui SR % SER TR sw-we ° <4 €

3T o |t T I SW-T9F H T & 9% A THeT & A W had SW-TAh Teieish
Tig | YR 19 T Te0 gk o W i STEf 2

Fed wM & AU o, Teror gfesh & of ® Hord g
TAd 3T @ fag qus
[T gl W SHiearR gRT feu 7w e SRt & few que feam smom

(i) W% Yo % T 9N Sehfeus S 81 SEHICER gR Yo% 99 & foig XU 7Y Uk e SwR h
fore wea ?q fraa foe @ i &1 TH-faeE qve & &9 H e S

(i) % =+ SHER TH 9 3ffush ST a1 €, a 38 Tord ST OAE S, Tafy Ry e sw o 9
T S GE Bl ®, R ot 39 e & fory SugNER @ SH @e % us e S|

(i) A SHITIR g FE T Tt &l R S @ orefq SEiRaR g0 SW Al e S €, sS4
WA % g g gue & e s

W ¥ Gaifd e /3mata: afE o B @ § A o ISl okl Weifud S i STeedshd
T A TAEIH HI AERIHA €, A 9 WEFh SHRN % WY 5 WEd, 2024 (Y09 4:00 &) H
anubhav@nextias.com T - R HHhd 2l

e ek MUkl I€ UXISIUT YRaehT WieH ol 7 el WY a& deh 7 @iei|
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1.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES Not HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series C or D carefully and without any omission or discrepancy at the appropriate places
in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for

rejection.

You have to enter your Roll Number on the

Test Booklet in the box provided alongside.

This Test Booklet contains 80 items (Questions). Each item is printed in Hindi and English. Each item
comprises four responses (Answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose only one response for each item.

You have to mark all your responses ONLY on the separate answer sheet provided. See directions in the
Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you
have to fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission
Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(i1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the

given answers happens to be correct and there will be same penalty as above to that question.

(ii1) If question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

Challenge the question: If students feel that either the question(s)/answer(s) needs to be modified or require
clarification, they can email at anubhav@nextias.com with supporting information by 5 February, 2024
(4:00 PM).

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO
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Trefafeaa 4 (aR) wgisn & foag o
Frefeiad =r ai=se) #i ey iR SEe oI5 3TH
I YT @ W AU T YA W ST IW
Faa STI=Pal W IURA & 8 =1feul

uR=e - 1
€ AF 9 ° A a1 € fF sfoe #1 edd
TH TSIl W SHNG 71 98 T TWE T Tl
B\ sifueter gt fosml 1 e, sfae@
BN M oA S9e ¥ 3Tl €1 $9H 9 Wi €,
St &9 fHean Fen A FIR Ao § A1 g ¥ ugd
¥; B9 Jofifas o1 fomm § S 3@ §; guR i sl
IfEaR &8 Al ®9 9 A1 19 Hifean & wem
U S I §; W o1 e erva  sfderd i
T 91 el & ®9 H & @ §; IR Hifgw
e o W B 3fd:fhan #d € S R ferma
% U AT HUS AT 9o TAR URAR g e H
AT TS FEIE SR S HieH B9 w §, S e
B TBd §, o Tl WoEn S ©, @ weft e
Tier® & R ¥ TR SR JF %1 i W 2

1. =% gRI & o wel qehed IR Hewrgul

3w 4 7?2

(a) 3™ & aR # BAN 99H q&F €9 9
STl o 1 A :feRaT S YeTe STl
T et B

(b) 3hTET 1 FEEEF IH G T © fome™
3R THIS & AR AR STl o 377l
2

() T e fava ghewm wEEm
v, Hifean iR e gfa fafe=
Gl ¥ gfed g 2

(d) sfem™ & IR H AN I BH T qRarl
3R ToEEl 9 S diad €, SHY e @)

=T - 2
we oAfen Ufrem (Froue o1 oaen) W S5E
A B TR HT ILTT U YA/HTET Hl WeH FHEAT
®, &l SRRt 3 o7 o Fohdie grl AT
T 3 a1 fewhiee 81 W = &t ST W W
ST AN A €1 U8 jEd g R e

© Copyright: NMEXT IARAS

1-D

3[oeh 1 fafame 3899 Sae THRES @R &
WA | BRI & o R P ST
H aQEN A A, BCAlh ARSI 7 T U
f, ®oRmET 3 <erHE AN Hl TS gfg
IUHO/AEA § aee/aiafdd w1 21 waeh
ritenedt ® e T foR e Heend o9k | et
=TS Y el % aga @l off, foag orhdisti i
FfeTE e @ ot iR faas e ® 9 FHoRm, |9
oW |, ISTHS A H1 Yol St R R® 9,
S8 qa ufer 5 W@ oft, 59 woreat/wol wi
fqd: gl B oMl SfRT fEmE 3 o gea 9
81 ¢ T ST Yooh 3o ¥ oge Sl =1y
3R 38 oA S A1 U1 W AT T AN HY
4 T2 et s =nfeul
2. Sudw U] & g o &g dw & e
o1 Frefafgd o 9 SiA-91 9o qeETd SR
et fafeded g g 22
1. S Forwdl/H T o 38w €
TN MEE F E, A KR 19 STIATHA
=N R W AfSw IS AN T8 o
e
2. RURMIS i LT Yook ST § ogerl
T SR IR TEE AU A RO W
T, T TS bl X H G ST S Fehell
gl
3. o wureRdl/®ol W T8 IS S
F AR W A T off, 9 e AR
W W TeH B Hehd § 3R Herferd &9 |
ST AT SO AT TRT Rl A H
Hehd 2
4. HUERA/FEIN & = hice I |
YR B Fehell © 3R FURIQR & Tore
i IR ® ¥ H S[HF ATS H
I B W UehT S Fehal B
o Ry T H w ST TH G I
gHT:
() 1,2 3R 3 (b) Heaet 2, 3 3N 4
() ®ad@2 din4 (d)1,2,3 34

www.nextias.com



5066.55’?-5551 | CSAT (Paper-Il)

NEXT IARAS

Directions for the following (Q.1 to Q.4):

Read the following four passages and answer
the items that follows. Your answers to these
items should be based on the passages only.

Passage - 1

It is widely believed that our understanding
of history comes from textbooks. This is not
entirely the case. As with most social sciences,
our knowledge of history comes from lived
experience. This includes what we read in
fiction or non-fiction or from the Internet;
what we watch on television or cinema; what
we are told by our friends and family either in
person or via social media; what we see of
history in our daily experience in the form of
monuments or ruins; and the material objects
we interact with such as heirloom jewellery
or clothes or food. The stories told to us by our
families, the meals we eat, and the clothes we
wear, the places we visit all come together to
create the foundation of our working
knowledge of history.

1. What is the most rational and crucial
message given by the passage?
(@) Ourunderstanding of history comes
mainly from lived experiences such
as interacting with jewellery.

(b) Working knowledge of history comes
solely from our personal experiences
from school and society.

(c) Our historical worldview is informed
by various sources including personal
experiences, media, and food.

(d) Our knowledge of history comes from
what we learn from our families and
communities.

Passage - 2
The Central bank’s draft guidelines on ‘Fair
Lending Practice’ are aimed at obviating a
practice where lenders have hitherto levied a
penal interest over and above the contracted
rate of interest when borrowers delay
repayment or default. Observing that the

© Copyright: MIEXT IRAS
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regulatory intent of a penal levy was solely to
foster credit discipline among borrowers
through a negative incentive, the RBI noted
that lenders, however, had in practice turned
the penal interest into a revenue enhancement
tool. Supervisory reviews had found that some
entities were in fact charging ‘excessive’ rates
of penal interest, leading to hardship to the
borrowers and disputes. Lenders had also, in
certain cases, been capitalising the penal
interest, thereby increasing the principal
amount that the borrower would ultimately
have to repay. The banking regulator has now
emphatically laid down that penal charges
should be recovered separately and must not
be added either to the principal outstanding
or the rate of interest charged on the loan.

2.  With reference to the above passage,
which of the following could be the most
rational and practical implications of the
guidelines being implemented?

1. Lenders will no longer be able to
charge penal interest over and above
the contracted rate of interest when
borrowers delay repayment or
default.

2. Lenders will have to recover penal
charges separately and cannot add
them to the principal outstanding or
the rate of interest charged on the
loan.

3. Borrowers who were previously
charged excessive rates of penal
interest may now be able to dispute
and potentially reduce their overall
loan repayment amounts.

4. Creditdiscipline can improve among
borrowers and prevent lenders from
using penal interest as a revenue
enhancement tool.

Select the correct answer using the code

given below.

(@) 1,2and 3 only
(c) 2and 4 only

(b) 2,3 and 4 only
(d)1,2,3and 4

www.nextias.com
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=g - 3

IR 9q@ @ (URRAT) ¥, St SHaiferh g an &
afefer e § gfEfdd e UsR, fren sii
SIS, T 3T Y| SIS SIS i
anifefer et § e & forg UsR = Akl gor
Tk HEUl a7 21 AR 9N ST Sedt HrEia
SdE & fau waie iR ol s fEt Sa=
wE | G 8, A SHEieIh g Ay i Wit Teh
IReferehar 59 St e, wiere fmior iR st
qer fasmaarstl sl Yshert e Siad gHv=a
HT o TEwul Ay €, S e eE
1 s @9 W oeed 1 U RIS SR W
FRIFA 7 FHaa M Tfafdre i gl SRRl
% fau Heaqul 7, sfess = ercafus gt =3
1 off 5w SN st Oeht frmor § weg e
B GUTEA, S FHeates Hfadl & werm ¥ it
Bl ®, SHUfeTHd 9y e 6 & o us
3R Hewaqul Tee] €, Fifeh Te SHHE w1 Tl
3R IEHAl TQM & Ty Teh Te SIderor sH
o 7eg T 2l

3. frafafed § @ #9-1 woF Sudw uRess
1 FEE ST UR Fd el €7

(a) 9NG H SHIfeIRE e w1 &
fou SEifeas™ TR &1 anfels oy
o aer & fore Yo gem, fen, v
Gor 3R GIMEA 1 STavashdl B

(b) SHEIEAFRE A &I il e o
T & TG 9 (WlkET) e w4,
USIR Gor 3R 9MEA € IR 3 9Rd i
e ok <9 o HeR R Wehd €

(c) Had YSTIR Yo & ARA hl SGINIRA
AT G Y Tehal B

(d) 9Rd H SHifeFsE a9 w1 | &
fau SgE +1 e, vt 3R e
feerfeal eyl = €
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=g - 4
AW T ¥R gfeehior 8, S o 1 wiftd
o HieT IR el % Hewd W 9o a1 21 36
wehr, Tafe =1 wmem e fafues fagia 2, s fafy
1 Fateaar IR faf¥ & wHe) GHEdT ) Sge <l
21 Tl SrauRond wed iR frsgerr & wEW W
THEAM o <l 21 fafy & wree & foy sravas
& Top ferferer foofar safema o1 oo weftenast
% IS WIed T STHIRA 8| 98 SAFaanRl gfehion
% ey ® % M, oHAR W Siaei % a9
Tl 3R Ted W e g1 =feu)
4. TP 9 e S 4 )
e o 72
(a) fafa =1 wmee 99 =1 Wi & F@ea 3R
WA 1 ATl W Se &l )
(b) fafu =1 wmga fofa o o frogemar ik
TEIFTSAT 1 dgrel 31 €, S STAM Al
A R ST A F ITEY 2
(c) eH¥edR iR fafy & s & <t eify
oA Fofg o W wea, foremn el
ISl % Hew W 39 9 9d H
fafea 21
(d) STHYIETE Ted F MR W TS 3R
froug fafure fofa &0t eTevaRdl W 9
T 2
o (W.5-6): B FeAl & 9% A9 w7B Ry
few Mo € weft frewel W wfew &R e gifvea
Fifere fer faw Tu Frewst & @ FF-w1 frekd diferes
®9 Y HAl H1 ST HT 2

5. <9
B=20=M<A
J=G>U>P=A
et
L. A<]

II. B<G

www.nextias.com
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Passage - 3

There are four key mechanisms that translate
a demographic bonus to economic dividend:
employment, education and skills, health
conditions and governance. Employment or
job creation is an important mechanism to
translate demographic bonus to economic
dividend. If India is able to generate sufficient
and quality jobs for its bulging working age
population, realisation of demographic
dividend will become a reality. Education,
skills generation and ensuring a healthy
lifespan by preventing diseases and disabilities
are also important channels that translate
demographic opportunity into economic gains.
A skilled and healthy workforce is critical not
only for better productivity of an economic
activity but it also reduces excessive public
spending and helps in greater capital creation.
Good governance, reflected through
conscientious policies, is another important
aspect for reaping demographic dividend as
it helps in creating a healthy environment for
increasing efficiency and productivity of the
population.

3.  Which one of the following statements
best sums up the above passage?

(@) The realization of demographic
dividend in India requires job
creation, education, skills generation,
and good governance to translate
demographic opportunity into
economic gains.

(b) The key mechanisms to translate
demographic bonus into economic
dividend are healthcare, job creation,
and governance and these can help
India become a developed country.

(c) Only job creation can ensure that
India will realize the demographic
dividend.

(d) The education, skills, and health
conditions of the population are not
important for the realization of
demographic dividend in India.

© Copyright: MIEXT IRAS
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Passage - 4

Empiricism is a philosophical approach that
emphasizes the importance of evidence and
observation in the formation of knowledge.
Similarly, the rule of law is a legal principle
that promotes the supremacy of law and
equality before the law. Both concepts share a
common emphasis on the importance of
evidence and impartiality. The rule of law
requires that legal decisions are based on
evidence rather than personal or arbitrary
preferences. This aligns with the empiricist
view that knowledge should be based on
observation and evidence, rather than on
speculation or intuition.

4. Which of the following is the most logical

corollary to the above passage?

(@) Rule of law stresses the need for
evidence and experimentation in the
formation of knowledge.

(b) Therule of law promotes impartiality
and objectivity in decision-making,
which is consistent with the
empiricist emphasis on speculation
or intuition.

(c) Theoverlap between empiricism and
the rule of law lies in their shared
emphasis on the importance of
evidence, impartiality, and

objectivity in decision-making.

(d) Empiricism emphasizes the need for
objective and impartial legal decisions
based on evidence.

Directions for the following (Q.5 to Q.6):
Some Statements followed by some
Conclusions are given below. Read all the
Conclusions and then decide which of the
given Conclusions logically follows/ follow
from the Statements:

5. Statements:
B=20O=M<A
J=G>U>P=A
Conclusion:

I. A<]
II. B<G

www.nextias.com
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frefafad & 9 -1 T8l 2?2

(a) e frehd 1 TG0 i 2

(b) e frshd I STHEROT Ll 1

(c) <A frepd [ &R 11 ST 3

(d) 1 Frepd [ iR = & 11 1ER < 2
6. HAT:

A>E<Z<B<N>P<O>Y>W

et

I. P>E

I. E<N

frefofaa & @ wiF-o1 9t 22

(a) wae frshd 1 ST 3 2

(b) et Freh 11 STERoT Hd 21

(c) Tk 1 3R 11 SFF ST &% B

(d) 1 Frepd [ iR = & 11 18R < 2

7. AR A I B, B &I A, el Fl SR,
SATHTIT 1 Wiell, Tl i wet 3R et <l st
e Sl ©, A W% SR H T 1 27
(a) em (b) sThrr
(c) e (d) et

ot (9.8-9): =t fean wan S fafy=r waami &

foTT Tk Feag wY TE e <wiian 21 59 fager

Hifey ik Frefafaa gol & sw A

(1) "SR gt s Fie o= i "but
cut put hut nut" % ®9 ¥ fer@n @ 21

(2) "diferT TS ¢ HW 1 "hut rat wet vet”
% ®q ¥ foran T R

(3) "dru St =R sEfaEt @ et but hut
bat" ® ®9 ¥ foran w71

(4) "SfeT SRR U5 1 "nut hat rat" ® &9
o foran T 2

8. “Trader” &l @i &I &7

(b) rat
(d) wet

(a) vet
(c) hat
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9. “ISifER TSR & fo she @ Bm?
(b) wet hut
(d) nut wet

(@) nutvet
(c) cuthut

10. @@ = M, N, O, P, Q, R 3RS w*s
ufgsha e % fou Sufeerd g €1 O, N
3R Q feeedt o w®d €, Safh o= feoell §
A & 81 hae P 3R R & AYHe 1 e
foran o 1 e M, O 3R P faarfam A
%1 HH T, Sefs arept § Tt D & &
21 T FIST fF 9 ° *F Koot ¥ 9
®l © 3R suH faafim D &t &+ ®, dfeA

¥ myHe e 2
(@ P (b) M
(© S (d) R

11. 9 T 3R 9 Hd ferere f&w 7w € =g 9 o=
%1 9 TRl | agfess &9 9 @ o,
39 TRl &l & A sifee, TS5 T 19
H T fawme ® w@ i w2
(@ 1 (b) 0
() 9! d) 7

frAfafaa 4 (IIR) wein & fag fde:
foreifefad =R TR 1 9fau o TResdl @ A9
3T arel Yeien & W Tl 37 g & forw
M IW Had 37 U=t W & i gH
Lk

ai=sg - 1
Fa ST g, i e SR e
FHWO WipTaw GEEAl w1 G ¥ gfg gg 21 sl
qRefta ifEerfien o 31X qrepfieh Saneml W sty
% e U U qAieRuie erol, Sa-fafauar & g
AR JguUl % R H 9fg g2 21 Wid g &
TR IUGRT FT o Siorarg, uRadq | gt e
21 TEY WIS SR aTfefes sEmmast o gfg @
W ?1 38 T 9 e & fory waq/ ganeia
IYNNT YT T STEATAHRAT B S &7, TIET0T
AR TereRToe HEIEA % YA Wl Wefhehd 2|
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Which one of the following is correct? 9. What will be the code for “Engineer
(@) Only conclusion I follows. Manager”?
(b) Only conclusion II follows. (a) nutvet (b) wet hut
(c) Both conclusions I and II follow. (c) cuthut (d) nut wet

(d) Neither conclusion Inor II follows.
6. Statements:

A>E<Z<B<N>P<O>Y>W

Conclusion:
I. P>E
II. EXN

Which one of the following is correct?
(@) Only conclusion I follows.

(b) Only conclusion II follows.

(c) Both conclusionsIand II follow.
(d) Neither conclusion Inor II follows.

7. Ifairiscalled green, green is called blue,
blue is called sky, sky is called yellow,
yellow is called water and water is called
pink, then what is the color of clear sky?

(@) blue (b) sky
(c) yellow (d) water
Directions for the following (Q.8 to Q.9):

The data given below represents a coded
language for different professions. Analyse it
and answer the questions that follow:

(1) “Doctor Engineer Business CA Scientist”
is written as “but cut put hut nut”

(2) “Banking Manager Trader CA” is written
as “hut rat wet vet”

(38) “CA Scientist Trader Astrologer” is
written as “vet but hut bat”

(4) “Banking Engineer Writer” is written as

“ nut hat rat”

8. Whatis the code for “Trader”?
(@) vet (b) rat
(c) hat (d) wet

© Copyright: MIEXT IRAS
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10. Sevenpersonsi.e., M,N,O,P,Q,RandS
appear for a medical test. O, N and Q live
in Delhi while the others live outside Delhi.
Only P and R were diagnosed with
diabetes. Only M, O and P have Vitamin
A deficiency while the rest have Vitamin
D deficiency. Then find who among them
live outside Delhi and have Vitamin D
deficiency with no diabetes.

(@) P (b) M
(€ S (d) R

11. There are 9 letters and 9 corresponding
envelopes. If 9 letters are placed into 9
envelopes randomly, find the number of

ways in which exactly one letter is placed
into a wrong envelope.

(@) 1 (b) 0
(c) 9! (d) 7!
Directions for the following (Q.12 to Q.15):

Read the following four passages and answer
the items that follows. Your answers to these
items should be based on the passages only.

Passage - 1

Rapid population growth, coupled with
economic development and urbanization, has
led to a surge in demand for natural resources.
This has put immense pressure on the Indian
ecosystems and natural resources, leading to
environmental degradation, loss of
biodiversity, and increased pollution levels.
The overconsumption of finite resources is also
contributing to climate change and
exacerbating social and economic inequalities.
Addressing this challenge will require a shift
towards sustainable consumption patterns
that prioritize efficiency, conservation, and the

use of renewable resources.

www.nextias.com
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12. Uf=sT & oMeR W frfafaa § 9§ sE-a
wod Ay Ffeaed 22
(a) i SFEE gfg HisE G qres
1 SR Afersh s
(b) TR THEA & YA § ISR
AR i SEAmEa@st wl ®H W °
7T foet Tkt 21
(© W wRfefE 3 F ae e
WiehTder WHIEAT 1 AT ® e Tl €
(d) TafeRviia eror iR Sa-fafaua &1 g
AT SYHN o YR HROT 2|
=T - 2
AT 1 AAAs YR & AT ki Sasar § g
=1fen, 7 fof IR Taaa 9 S ST 34 W IMEA
R B T qHS % e o e | e g
feT| 39 TR Y& T i i Ifchai o Ik Th
MG A1 YA S IR THeE A 98 © fE
Wk it SRl STCATR BT BT 31 379+ Hwedl ol
Yeied w1 H W™ g1 &1, IRl a% foh R I &
faes @d &t W@ FH ® G aw
13. frfafea § 9 SH-91 S5 1i=ss o o
o1 Haiten oy Ffeaed 22

(a) ¥R & Y@H TMa i qoi wfwAr e
=BT 3N a8 AR o7 =feu)

(b) A & faU ARG 1 SHA W IMEA
HIAT SETTF 2
(c) Taaa & YA MY | B ey,
a1 fo TR & 19 H B
(d) G  Tiral hi 79 W R YT B
% fou o g9 W R ' e
TR=q - 3
W @R de S gafiEt faf (FTesn) &
T qol wew 21 AT o CO, 30 TR & IS

ot €, TafeTT 37 ST &I SreharEs (fomeeo)
FE gt wufgewdar ¢ faftmor 89 9§ 89 a9
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MTERE 19 S | 37ehel SEI SET 1 ANTEH
T TH-NAE T THH (oS EE S
Wiehan & Yk W % G SR aReR 9 g 2l

14. ST ufes 9 frefafad o 9 siA-o1 god
qhGTd Freerd TehTen S Hehal 272

(a) TEA IS HH H & fau fmior e
el & R

(b) T R T R WeR=Y 19 S&eH
F YD H TRRT TE S Gkl B

(c) i & wqeh Wit ik dide &1 e
qmirEl 9 gfaeenfua fean s =mfew)
(d) TeRy o sasH ¥ e @ik e
ST T TEEyu i 7
=g - 4
IfRIUT SAWIHT HI HUA THAA At A
T eneE SEer e R %, S e @
TGl % TR IR o i 2, foed R weeror i
w1 gyl w1 wEl fefa w1 SrEE ¥ Tar e SR
arfeash 999 o 3% deR &t RN 3 § T3]
e T | FOH H TENREH TR AT R T
€ Tl oA & foru feren s @ fop aft #1E uy
= Tfafafy gefifd w2 @ 2, 9 98 T Gohd
2 fF 9% T B "ehal €, S & forg, Al
T SHF (TY) HAS 7, @ I8 IASid G
el IR eray R ferielt S i eterd AW < 21

15. 3w U=t & SmuR W fr=fafea o
Y HHA-G Haifrh TRETd SR S S
TRt 82
(a) TR F STEM Y e A SR IfeRm
AT B ST

(b) S R H TE & 1 SR Rk
% YAE/BIA I HIET TS 6 HH BT
@ &
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12. Based on the passage, which of the
following is the most valid implication?
(@) Rapid population growth will

exacerbate and perpetuate existing
social ills.

(b) Shifting towards use of renewable
resources can help mitigate social and
economic inequalities.

(c) Indian ecosystems’ carrying capacity
cannot match the demand for
natural resources.

(d) Environmental degradation and
biodiversity loss are irreversible
causes of overconsumption.

Passage - 2
Independence must mean that of the people
of India, not of those who are today ruling over
them. Independence must begin at the bottom.
Thus, every village must become a republic or
Panchayat having full powers. It follows,
therefore, that every village has to be self-
sustained and capable of managing its affairs
even to the extent of defending itself against
the whole world.
13. Which of the following would be most
supported author the passage above?
(a) Every village in India should have full
powers and become self-sustained.
(b) Ruling over the people of India is
necessary for independence.
(c) Independence should begin at the
top, with the government in control.
(d) Villages in India should rely on
external support to manage their
affairs.

Passage - 3
Materials such as steel and cement are
important components in construction. But
they’re also heavy CO, emitters, making
decarbonizing these industries a priority. Steel
production alone accounts for around a
quarter of greenhouse gas emissions from the

© Copyright: MIEXT IRAS

8-D

manufacturing sector. A big part of this share
comes from the mining and transportation of
ingredients used in the production process.

14. Which of the following is the most logical
and rational inference that can be made
from the above passage?

(@) The construction industry is not
important for reducing carbon
emissions.

(b) The impact of greenhouse gas

emissions on mining and

transportation is undeniable.
(c) The steel and cement used in

construction must be replaced by
sustainable materials.

(d) The steel and cement industries are
significant  contributors to

greenhouse gas emissions.
Passage - 4

The South Africa-based company Rouxcel
Technology has developed Al-enabled
bracelets that fit around rhinos” ankles to help
conservation teams easily locate the animals
and monitor their behavior in real time. The
company’s algorithms use machine learning
to spot when an animal is exhibiting abnormal
movement patterns — a signal that it might
be distressed, for example, if poachers are
close. It then sends an alert to wildlife
operations centers and anti-poaching teams.

15. Which of the following is the most
rational, logical assumption that can be
made on the basis of the above passage?

(@) The use of the bracelets will obviate
the need for traditional conservation
methods such as patrol teams and
tracking dogs.

(b) The bracelets and similar such devices
significantly reduce the impact of
poachers.

www.nextias.com



NEXT IARAS

‘énljﬁ.’?‘é?-iBiz | All India Open Mock Test-2

(c) foeh oy = fowm/fafa & ar o arafaesw
I W gET TH 3! TfAfare
e BT Y GHEH § el L Gehdl 2
(d) siEele fordt w3) &t sTEMER Tfdfaty &
Yed o1 FEl SR T ®9 H YERIG H
T 2l
o (9.16-17): 1 99 ®, qit (o) & <=
Haul 1 Yeifd 6 & fou 9 wdiel &1 5= |
YR fean o @ T
'P+Q' w1 3¢ ® 'P,Q W Bl Tl 21 'P$Q' H
FA 2 PAd Q¥ BT SN A € WD K =)
PIQ =1 & & ‘P, Q ¥ dl 5iel € 3N 7 & &
TR P@Q =1 31 2 'P,Q ¥ w1 A& 2
PHQ HT AF 8 PAdl Q € wel € 3R A &
B Bl
P HUT AR 36 W ia oo Freand = &Ky
e €1 |t Frepl @i afen st fre @ it fo
fzu u frersf § 9 wH-w frwd aifesd w9 9
A T ST H 2
16. hIA:
A!B
B#C
C$D
D+E
et
I. D$B
II. A!C
III. C+E
frefefaa & 9 si9- 98 82
(a) FE FF g7 T 2
(b) waa I T 2|
() ®aa Il 3R Il T €
d) ®aa 1 R I 97 &
17. ®IA:

J$N
N@A
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A#C

C!F

e

. F+A

. A$]

III. N!C

frfafaa & @ siA-w e 22

(a) ¢ ot g T 2

(b) e 1 &R 111 9 &

() @aat II 9 I

(d) et 111 9 B
e (w.18-19): fam=fafea s &1
YEuFgde 31 iU IR fRe Te e & S
EIE

T 9 el arel ufer ¥ @ 9s=- A, B, C, D,
E, F, G, H, 1 3R] 8 & 4 foarfed sig @ik
Hadl IR Afeed 21 A, G & HH & Tl 21
ARG, C & &I D & shae 2 o= &1 |, H &1
e 81 B =1 foae D @ gan 211, F %1 =8 © 31k
F,BHF AR I C F foae F 4 NI B, [ &
T 1 gL 81 E foenfea =& 2
18. fefafaa o 9 wiF | o1 fiar 2
(@) F
(b) B
(© D
d) SHEF A o+ T
19. G & o) ¥ frfafgd § @ &iA-® wed
T ®?
@) A, G #I 3 2l
(b) H, G %I 77 =l
(©) F, G & fm 2
(d) J, G = | & ¥ 2
20. 3o 1 oaq SFEe 9 1% sk 21 ShE w1
A fo & yo% FF T AR T F A fo
@ﬁ%%,ﬁxﬁ?y%#\ﬁmﬁu
1 8?2
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(c) Real-time information about an
animal’s whereabouts can help us
better understand their movement
patterns.

(d) The bracelets can accurately
determine the exact cause of an
animal’s abnormal movement
patterns.

Directions for the following (Q.16 to Q.17):
In these questions, certain symbols have been
used to indicate relationships between
elements as follows:

‘P+Q’ means ‘P is not smaller than Q". ‘P$Q’
means ‘P is neither smaller than nor equal to
Q. P! Q" means ‘P is neither greater than nor
equal to Q. ‘P @ Q" means ‘P is not greater
than QQ". ‘P# Q" means ‘P is neither greater than
nor smaller than Q. Some Statements followed
by some Conclusions are given below. Read
all the Conclusions and then decide which of
the given Conclusions logically follows/ follow
from the Statements.

16. Statements:

A!B

B#C

C$D

D+E

Conclusions:

. D$B

II. A!C

. C+E

Which one of the following is correct?

(a) Noneis true

(b) Only Il is true

(c) Only II and III are true

(d) Only I and III are true
17. Statements:

J$N

N@A
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A#C
C!F
Conclusions:
. F+A
II. A$]
. N!C
Which one of the following is correct?
(@) Noneis true
(b) OnlyIand Il are true
(c) Onlyllistrue
(d) OnlyIllis true
Directions for the following (Q.18 to Q.19):

Study the following information carefully and
answer the given questions.

There are ten members in a three generation
family i.e, A, B, C, D, E, F, G, H, I and J.
Among them there are 4 married couples and
only four females. A is the wife of G’s maternal
uncle. E and G are sons of C. D has only 2
children. J is father of H. B is married to D. I is
daughter-in-law of F and F is son-in-law of B.
Cis married to F. Bis father-in-law of I's father-
in-law. E is not married.

18. Who among the following is the father
of J?
(@ F
(b) B
(0 D
(d) None of the above

19. Which of the following is true about G?
(@) Aisthe grandmother of G.
(b) His the sister of G.
(c) Fis the father of G.
(d) Jis the son of G’s maternal uncle.

20. Ela’s salary is x% more than Daniel.
Daniel’s is y% less than Chitra. If Ela’s
salary is greater than Chitra’s, what is the
percentage relation between x and y?

www.nextias.com



NEXT IARAS

5065”3‘5?-5553 | All India Open Mock Test-2

(@) y(100 - x) < 100x
(b) y(100 - x) > 100x
() y(100 + x) < 100x
(d) y(100 + x) > 100x

21. ¥@ ®R i@ FH @R 7 FR S faw
I 50% HH HT A&, d HR & foeht 1 Hen
500% 9€ TEI Al R Frafar wu w1 IR
A 150% o1l @ FO % @nd J fohad wfawma

() 0%

(d) freif =& fehan <1 wehan
22. A,B 3R C wsar fHee s &4 6.4

o U < Thd §1 B 35w i 96 A H q@

FX Fhar 21 9% C, A F1 go H 33.33%

s /T B, 9@ A 3R C g0 31%hd &

T FH | fau T g & d= @R Fa

ifera?

(@) 2.5 = (b) 3 f&=

() 6 f (d) 4 &=
(W.23-25) 9 & Wyt @ fow Tdom: ws S
FUA I STem-3Tem Rl (UK7, UKS 3R
UK9) & S Al 21 T 7 o 7 Seqrfea gt
F1 FHA FEe H ¥ Iansd UK7 Sl 1 gfaera
Tl €, Seafed UKS S[al w1 @@ safea UK?7
Sl ot T 9 S € SR Tk a1 SO R 9N
STET-STeTT adt | Iaurfad UK9 Sl &1 d&

45%
40% 40% 765
360
25% 168 384
209 20%
159 159

2015 2016 2017 2018

E UK7 Sl & Scired 1 gfard

] = wfirm, foes UKS S@l #t Sen UK7
Sl 1 e ¥ sty 2

B <o UKo s @ gen
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23. 2016, 2017 R 2018 H Searfad al 1 3o

e 1 2?2
(a) 900 (b) 1250
() 1100 (d) 1200
24. 2015 3R 2017 | Seurfea UKS [l 1 G&
3R 2018 & Iaufed UK7 S[di 1 G& & <=
I FW B?
(a) 84 (b) 66
(©) 128 (d) 110

25. forg ai/emt o Iafed |t St & UK9 <@t
w1 fewm wag e 2?2

(a) 2015 (b) 2017
() 2018 (d) 3w |sft ast o
Frrafafaa 4 (3R) wgien & foag fdor:

frefafaa 4 a8l @i ufee ik Fefafea
Il % W AW 7 g W TS W Haa
fessl W sneiia & g =fsu)
=g - 1

dal o St qatcar & emher | wige T @
M9 ITART I @d gE, foar e amer TSR
F1 Iufeerfa Al & WYU-Y TaEH & faw of
oA STEUY YST Y Fehdl g1 SR yoedt &
3RS THUSK i AYHA F I@d Y, W
TR & fau Hifew dem w1 ardE o de
1 Fifaa U Garfaa e geerar S T
3R SRl 1 WS THUSR & oI WicHied e i
fXen ¥ T ®3d el

26. JEISME gRI TS THAUSK 1 AIfgH
qeM % foau fFefafad § @ wF-9 gaifaa
HROT B2
. TS TAUSR ¥ JE hiee SifEdt &

Ay T AR HET

2. S I fa T arel mTHdlE & R
[ & fou sdrcded wE
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(@) y(100 - x) < 100x
(b) y(100 - x) > 100x
() y(100 + x) < 100x

(d) y(100 + x) > 100x

21. When a car manufacturer Toyota reduced
selling price of car by 50%, the number of
cars sold increased by 500%. The
manufacturer’s initial profit was 150%.
What is the percentage change in
company’s profit?
(@) 10%
(b) 14%
() 0%
(d) Can’tbe determined

22. A,Band Ccan complete a work together
in 6.4 days. B can complete the whole
work in 96 days.If C is 33.33% more
efficient than A. Then find the difference
in times taken by A and C to finish work

alone?
(@) 2.5days (b) 3 days
(c) 6days (d) 4days

Directions for the following (Q.23 to Q.25):
A shoe company produces shoes of three
different sizes (UK7, UK8 and UKD9). The given
bar graph shows the percentage of UK7 shoes
produced out of the total number of shoes
produced, the percentage by which the
number of UK8 shows produced are more
than the number of UK7 shoes produced, and
the number of UK9 shoes produced in five

different years by a shoe company.
45%
40% 40% 765
360

168 384
209 20%
1501 159 |(

2015 2016 2017 2018
[ ] Percentage of UK7 shoes produced

] Percentage by which the number of UK8 shows are
more than that of UK7 shows

|:| Number of UK9 shows produced

25%
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23. Whatis the average no. of shoes produced
in 2016, 2107 and 2108?

(@) 900 (b) 1250
(c) 1100 (d) 1200

24. What is the difference between the no. of
UK 8 shoes produced in 2015 and 2017

together and no. of UK 7 shoes produced
in 2018 ?

(@) 84
(c) 128

(b) 66
(d) 110

25. In which year/years the share of UK 9
shoes is highest among all the shoes
produced in that year?

(a) 2015 (b) 2017
(c) 2018 (d) All of the above

Directions for the following (Q.26 to Q.30):

Read the following four passages and answer
the items that follows. Your answers to these
items should be based on the passages only.

Passage - 1

Given the extensive use of credit ratings in the
assessment of capital adequacy in banks, the
presence of unrated exposures can create
information barriers for banks as well as the
supervisor. Given the prevalence of large
unrated exposures in the banking system, the
policy measure of the Reserve Bank India of
raising the risk weights for such exposures was
a step towards plugging the possible
regulatory arbitrage and encouraging banks
to have rated exposures.

26. Which of the following are the possible

reasons for RBI to raise the risk weights
of unrated exposures?

1. Tomore accurately assess the credit
risks associated with unrated
exposures.

2. Discouraging banks to give loans to
unrated borrowers.
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3. W, T YOI FY § Hewu SRl %
FARIS TSR (/U1 wifEw) 1
TS|

4. RBI & 9 3T aTeft g1 a1e il T
TN

o feu U HE w1 SEEN W W SW
g

(a) ®aa 1,2 3R 4 (b) Faet 2, 3 3N 4
() ®dad 1,2 3R 4 (d) Faat 1, 2 3N 3

=g - 2

AR dfehT &9 T & =9 @ B a9 9 <6
B3 B, TSTEeh1 heor 9ISt 31eer Hulai i STeaferen
01 A1 €, S SO B e | ereme € Wy €
Al & 3=9 O WR & HROT ISAH 7097 HT AT
HH Bl Sl B q1 Skl oNH FH 8 Sl 2, e
It faita feorfd R @ @ St 21 7e, 9l o,
01 e T SThT &al 1 Fifa Y < €, T
Teh gouh & Sl 81 TR B&dald i hH i,
RS FIIE (A e Heer) | gur IR Frmes
T &l AoEd G S8 HEfAs GEHHE GuR
HH & e Teritfas seemife w1 FH & SR 98
ey Sfeet 8l T 81 9RA & Tt g o gAsiitaa
T AR efentfern enfefer feorar gfafvad 6 &
fau 5@ el Sefg v guen (fam-soiw e
THE) 1 GHHE w1 FEEql 2|

27. 9 ® Tl dolg vfe gEE # ge RO
Frefofaa & 9 SH-a1 82
(a) I, 3RY HH I TAMIFH IUR AT
(b) FFT &7 § TR HT TEEY
(c) i gr faer =1 f &)
d) sToara frames 2

28. SWE =] & oMuR W fr=fafaa o @
HF-H HoE TRETT IROT S ST Hehell 87
(a) el IiT Tie qHET HT IR H AfefwR

gfg iR feera W 1 g9 &l

vedl
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(b) Rd T TSI Hareen el selg wie
L 1 GHHH B AU TR T2 2

(©) FEd deim vie # wwen a9 W w
i & F0 I & FRO A R

(d) 9Ra ¥ fFH ) envuRd adHE | e
Seig i Tmen 9 yurfaa 21

o= - 3

T, A S 1 SHEEeR T W
THART, Teh G&01 AN ©, forent Sevd @sia
iRkfeerfeRT o 1 SR HEAT SR 9 Yol
I T R @) e, YAedifuq gonfaa g
AMAER0T & el eF & fog oo et €, i
3T A &% UROTTEEY STRER foeR, e
wonfeal & @ wfaemdi SR UM w1 YER S
SFUferd afome = ehRd ¥ gHe Sifafs, g
STHEL Wi Taeh AT fafaern w1 sfuad s 2
3R &1 Yl 5 T HhLor ST B I8 G
e & forw waergol fFeEeH, FReE SR gedise
YT ¢ fof FhRcass itfefas gomal w8
A U GALATIT 79 TR0 A&l bl Id e |
q%d 2l
29. Syt uftesg § frefafad o 9 siA-o ged

dAMfeheh IR AehETd sk foepren S Tehan 22

1. YA & 9%l g & for, mfifeerfaent
qF it AgaReR fafayar 1 e\ @
AETTH T

2. et wonfa gro e e saifEr (M)
U giifeafasr 9 W Yfdehel 991& Sl
Herdl 2

3. YARA 1 S9N faviy €9 9§ 9@ feen
ST =nfeu, Sie oy s 9 sifyes =i

4. YAEE &1 YA dhad AfqH SUE &
®wy H fear S =ifew, @ 1= @t
H&guT W qHS 81 TS B
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3. Exposure of large, domestic
systemically important banks to

unrated exposures.

4. To overcome the information barrier
faced by the RBL

Select the correct answer using the code
given below.

(@) 1and4 only (b) 2,3 and 4 only
() 1,2and 4 only (d) 1,2 and 3 only

Passage - 2

The Indian banking sector is burdened with
high levels of NPAs, resulting from excessive
lending to large, inefficient firms that are
unable to repay their loans. Meanwhile,
corporations also face high debt levels, leading
to reduced investment and impaired
profitability, further exacerbating their
financial situation. This, in turn, limits their
ability to repay loans, creating a vicious cycle.
The issue has been compounded by a lack of
political will to undertake bold structural
reforms, such as reducing government
intervention, improving corporate governance,
and strengthening regulatory frameworks.
Addressing this twin balance sheet problem is
crucial for reviving India’s growth trajectory
and ensuring long-term economic stability.

27. Which among the following is the root
cause of the twin balance sheet problem
in India?

(@) Excessivelending tolarge, inefficient
firms
(b) Government intervention in the

banking sector

() Low levels of investment by
corporations

(d) Inadequate regulatory frameworks

28. Which of the following is the most
rational, logical assumption that can be
made on the basis of the above passage?

© Copyright: MIEXT IRAS
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(@) The twin balance sheet problem has
no impact on India’s economic
growth and stability.

(b) India’s political system is unwilling
to address the twin balance sheet
problem.

(c) The twin balance sheet problem is
caused by lending to large firms and
corporations.

(d) The profitability of corporations in
India is currently affected by the twin
balance sheet problem.

Passage - 3

Translocation, or the intentional movement of
species to new locations, is a conservation
strategy aimed at restoring degraded
ecosystems and protecting endangered species.
However, translocated species may struggle to
adapt to new environments, and their
introduction can often result in unintended
consequences such as predation, competition
with native species, and the spread of disease.
Additionally, translocations frequently disrupt
natural genetic diversity and create
hybridization with other species. Careful
planning, monitoring, and evaluation are
essential to ensure that translocations are
successful in achieving their conservation goals
while minimizing negative ecological impacts.
29. Which of the following are the most

logical and rational inferences that can

be made from the above passage?

1. For translocations to be successful,
looking at the genetic diversity of the
ecosystem is essential.

2. The diseases carried by a species can
impact new ecosystems adversely.

3. Translocation should especially be
used when the benefits outweigh the
risks.

4. Translocation should only be used as
a last resort when all other
conservation strategies have been
exhausted.
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o feu U HE w1 SEEN W W SW
gHT:
(a) ®aa 1,2 3R 4 (b) Faet 2, 3 3N 4
() ®ad 1,2 R 3 (d) 1,2,3 3R 4
=g - 4
T T H S AR WEdl Hi TR e % €9 H
A & 3R 38 AR 1 g v S W ael 39
g, 9 T Tt i E1 SR UEelt Terdt SR 98
AT € 56 T oFue <At ffvea &9 9w qd
i Bl B ST T ot g A A ? f

HIEA eI &Y § 3= W h! gfg A1 A At
g, < siforfera & o & B 2

30. 9= & oiE® & fHfafed § 9 fHag
TEHd BF i Tad e GyraAT 8N ?

(a) TRER SR &R AN HT T 2 g M
a2

(b) el &l &f off HARH W fRd o=
el SRR 1 SEaeTRA Tel Al
EiEElad

(c) WM & U HaRd & Tevaswdl W

ol 3 ST ST YA B

(d) FER o AR W srfiferd @
o ¥ 31fyen SR a1 gfgaH e €l

31. ST 7 THIRW W 20% B2 T Tk a%] BRI
I T THARW W 20% S T = h1 el
fora 519 U Wew A IH 400 T FT UIHI
T, T 3T IH 160 TR % I9 60 T T
o T ST 1 et o Ufaerd s i)

(b) 125%

(d) 100%

(@) 20%
@ 112.5%

e (w.32-33): et 4 =wer SR sar i
I & Siehaie o, fat 379 9@ voe (S S
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IAT) & U Tedd 9 off| R smgan A frert ik
w=a hi A & Siehere &, A g (et
AR =) & U Ted 9 off| e 3T 9 uee &
I8 IO GEA | dihere off| afg iwerel ®t Fa
e 84 7, @l

32. femaitt & e YE/uRT o fhat didele off?

(@) 42 (b) 63
(c) 49 (d) 48

33. fraiht & U YE/ARY | TR dihce off?
(@) 14 (b) 16
(©) 22 (d) 28

34. It & fo T oA TR W TE 99 H A
54 ferelt wfesiar 21 afg wfq & et 5@ o AR
T & o & FEEE € SR 7 @ T
25 AT & T 99 H (G 45 foRelt gfsia
g, @ s@ ® @l eifuskae den W
HifT)

(@) 36 (b) 35

() 25 (d) 28

woAt & fere feen-fader (35 317 36): = & T
TSR & MU T 994l & S <ifeg)

A 91 d% Al 95 W TR @t w1 E € o C,
BU4fFpiigd # 21 A, BR 2 PR SA I F,
G ¥ 4 foit SR A 31 G, H 9 2 forelt afvem o
BIH, A% 4 fFft RO d 21 E, H 3D & ueA
FEAF WD, G W 6 ot 7H ¥ 219 B
AR C & weA | @ o T R
35. 9fE a1k H 3R a5 F &1 <7 3709 o a5
3 S, 1 91gk F & gay | e C forg faom
H 72
(a) S
(c) =feor-get

(b) STR-UfT=H
(d) <faror-ufy=m
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Select the correct answer using the code
given below:

(@ 1,2and 4 only (b) 2,3 and 4 only
() 1,2and3only (d) 1,2, 3and4

Passage - 4
Those who insist on literacy as a test and insist
upon making it a condition precedent to
enfranchisement in my opinion, commit two
mistakes. Their first mistake consists in their
belief that an illiterate person is necessarily an
unintelligent person Their second mistake lies
in supposing that literacy necessarily imports
a higher level of intelligence or knowledge than
what the illiterate possesses.

30. The author of the passage would be most
likely to agree with which one of the
following?

(a) Illiterate people are just as intelligent
as literate people.

(b) Literacy should never be considered
as a requirement for voting or any
other important rights.

(c) Insisting on literacy as a requirement

for voting is unfair and ineffective.

(d) Literate people are usually more
knowledgeable or intelligent than
illiterate people.

31. Aman bought an article at 20% discount
on MRP. He claimed to sell it at at a profit
of 20% on MRP. When a customer offered
him Rs. 400, he cheated by giving him Rs.
60 instead of Rs. 160. Find the overall
profit percentage of Aman.

@) 20% (b) 125%
(€ 112.5% (d) 100%

Directions for the following (Q.32 to Q.33):

Shivangi gave Chanchal and Amrita as many
Chocolates as each one of them (Chanchal and
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Amrita) already had. Then Amrita gave
Shivangi and Chanchal as many Chocolates
as each (Shivangi and Chanchal) already had.
Now each of them had an equal number of
Chocolates. If number of Chocolates is 84.

32. Find the number of Chocolates Shivangi

initially have
(a) 42 (b) 63
(c) 49 (d) 48
33. How many chocolates does Amrita
initially have?
(a) 14 (b) 16
() 22 (d) 28

34. The speed of a Bus ona Yamuna Highway
is 54 kmph without any passengers. If
reduction in speed is proportional to
square of passengers present in the Bus.
It is observed that speed of the Bus is
45 kmph with 25 passengers in it. Find
the maximum number of passengers the
Bus can carry.

(@) 36
() 25

Directions for the following (Q.35 to Q.36):

Answer the questions based on the information
given below.

Nine Bikes A to I are parked such that :
Cis 4 km east of B. A is 2 km north of B.
Fis 4 km north of G. G is 2 km west of H.

His 4 km south of A. Eis parked in the middle
of Hand D.

Dis 6 km east of G. I is parked in the middle of
Band C.

35. If the positions of the bike H and bike F
are interchanged, then bike C is in which
direction with respect to bike F.

(@) North - East (b) North - West
(c) South - East (d) South - West
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36. 9% F 31k A & o9 &l a9 53 a6 ___
R & e Bl Aad T R SR @)
(@) 13RD (b) D 3 H
(©) B3R C d) I sk B

37. T& THMIR 180 T S hl 20 WX wA
ety @ (SEegE) Y €1 98 9 fhsgor =
30 oftet S €1 o1 o7 TH el o @
3R 60% HZU (FR=LL) & WY 275 A1
3ifq =i o< & fow 399 32 % oUW
H A R WED (Fee) faem 81 g =
o 35 fora w1 faeman?
(a) 36 i (b) 30 =X
(c) 45 wfteX (d) 18 =ftex

ﬁ'ﬁﬁﬁgﬂ4(ﬂﬂ)mﬁiﬁmﬁ%:
Frefefed aiessl =i ufeu ik aiesel & = o
el YL & SR SUferu| 39 gy & forw emuen
IW I 37 URESS W €l ARG g =ife)
=g
FIH (V) TH HoAHE e 8, S o o
Geifea 21 59 < o1 aegell & THE N T ger
FI S B TYF F Tk aE O IE F M A
Wt B, S UH Tk e 2| Eleiiieh g8 T el @
o T wuw fret foaem ofa & ar o san 9 T
Hehdl ¢ Toh far fopelt ot 71 TR 1 STeihI
AT Y A H SR AR ST HIA 2| THH
FRO g @ foF Hfa 39 &0 9eAs ®9 9 S
3YE F W@ B ¢, I AE W & Ty o
Higal &1 T B © AdiSE, wia Y9 H S
Ul Bl B, 98 UH % Uid sAN GRon © o
Tohdl € IR T off1 Tafery, wfa w1 w7 =@
9w H Gem S 21 T SE e Hegd
AT ], W Hid HEHE w1 21 B WesT ° i
feo™ @R %ed o @em B wifew fm “E, WW
forctene =€t 81 | o= qle wuE T R 39 AT
1 SAIE F 2
T Y9 3R T[eld | Gafd 59 3 STuiepd
®Uh I fageian ¥ iR 3@ & 78 1 v&qd L
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21 itk hfe T % Fel W qorl wI §, TEIY
Tedl BH W FA & fowmarst &l s =nfew
e ST G W ST €, Tt gfeR et
qorad € 3R SHh! Y EREsh R AHEE 8
7€ el Stud € T o arsaa | ikl & fog
Tk IRt Gqte B 39, el R ger [fE
A gite, Tast 3fi eaf &t S & w9 § S
STt @11 TeATsl 1 T quidr k1 S W) gdid g
2, Y% Sl SR H gEihd wdtd B @1 @
ot =1 U 3Ht YR TET = =nfew? fondt frrem
1 3ThT S5l Rl T R e S Ryl fae
T BrAileh, T & STEAR ¥ go § T 3R
AP NS 21 el & 6ol § i i e €1 98 9%
ok We €, T8 wfa " wen wwa €
3N, T T[ToeR a1 T T & 90 & Afom
yfafifae & €9 H Ml & G wa fowe
ST - oifeh a3 T8 21 foman, S8k 99T 3814
7 TR =k fonan & e favarasmd & g 2
w9 B Tam ¢ fom Um ot 3 YR 7, S *IE
ek 3T T8 & a5 & g1 & foae qof favamm
o | M Sl €, Tl hiel agd TohEH g Fehdl
B 'gEYH ©,' ®UF Go® 3@ 2: U9 I H
AHRT HT 7, AR T8 T9 W Tl & Gohal 7,
3R g =ie o uge wehdl €1 g8 TH g9 Hehdl ©
R TR T TG Hehall 21 T8 UH & U K I
YN € - Wh =araHl | qE1 1 €2 99 3o €l: 9%
TR FE H AT 14 a6 o fh T WERe
®UF o Ud TRl K F GUfq kT T

S ®UF ] hHollcHEwdl 3N TS B
38. =T Uft=sg w1 ffeaid 8-
(a) wfaai & fau wrea gfwal stawas T

(b) wfaar &l et ot Hagret =1 qroor T&
HE =M

(c) UM UH ¥Rl 1 FAM wifee, S fafire
AE T

(d) ®9F TH T&eH A IE 2
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36. The shortest distance between the bikes F
and A is equal to the shortest distance
between the bikes  and

(@ Tand D (b) Dand H

() Band C (d) Iand B

37. Ashopkeeper dilutes a juice concentrate
of 180 litres by adding 20 litres of water.
He sells 30 litres of this mixture. Now he
take this mixture and further adds water
and concentrate in the ratio of 3 : 2 to
achieve a final solution of 275 litres with
60% concentrate. How much water did
he add in the second step?

(@) 36 litres (b) 30 litres

(c) 45litres (d) 18litres

Directions for the following (Q.38 to Q.41):

Read the following passage and answer the
items that follows. Your answers to these items
should be based on the passages only.

Passage

A metaphor is a poetic device that deals with
comparison. It compares similar qualities of
two dissimilar objects. With a simple metaphor,
one object becomes the other: Love is a rose.
Although this does not sound like a particularly
rich image, a metaphor can communicate so
much about a particular image that poets use
them more than any other type of figurative
language. The reason for this is that poets
compose their poetry to express what they are
experiencing emotionally at that moment.
Consequently, what the poet imagines love to
be may or may not be our perception of love.
Therefore, the poet’s job is to enable us to
experience it, to feel it the same way that the
poet does. We should be able to nod in
agreement and say, “Yes, that’s it!  understand
precisely where this person is coming from.”

Let’s analyze this remarkably unsophisticated
metaphor concerning love and the rose to see
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what it offers. Because the poet uses a
comparison with a rose, first we must examine
the characteristics of that flower. A rose is
spectacular in its beauty, its petals are velvety
soft, and its aroma is soothing and pleasing.
It's possible to say that a rose is actually a
veritable feast to the senses: the visual, the
tactile, and the aural [more commonly known
as the senses of sight, touch, and sound]. The
rose’s appearance seems to border on
perfection, each petal seemingly symmetrical
in form. Isn’t this the way one’s love should
be? A loved one should be a delight to one’s
senses and seem perfect. However, there is
another dimension added to the comparison
by using a rose. Roses have thorns. This is the
comprehensive image the poet wants to
communicate; otherwise, a daisy or a mum
would have been presented to the audience
as the ultimate representation of love — but the
poet didn’t, instead conveying the idea that
roses can be treacherous. So can love, the
metaphor tells us. When one reaches out with
absolute trust to touch the object of his or her
affection, ouch, a thorn can cause great harm!
“Be careful,” the metaphor admonishes: Love
is a feast to the senses, but it can overwhelm
us, and it can also hurt us. It can prick us and
cause acute suffering. This is the poet’s
perception of love —an admonition. What is
the point? Just this: It took almost 14 sentences
to clarify what a simple metaphor
communicates in only five words! That is the
artistry and the joy of the simple metaphor.

38. The main idea of this passage is
(@) Poetic devices are necessary for poets.
(b) Poetry mustnever cater to the senses.

(c) Always use words that create one
specific image.

(d) The metaphoris a great poetic device.
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39. TEY AN A S Hhal € T ®UF ©-
(a) TH YR i SAciRIE AT
(b) THHT HA Yh|
() v =& 2
(d) wfad ¥ T&H YR 1 Fo/IH|

40. 3TY ST AN S Gehel B foh ®U% U9 TH
e ® 1 Gl aref B
(a) Y9 TH oAl L R
(b) Y e H Heet T 9K eIl
(c) 9 wf Tomdt T wran
(d) YT =S SR X Al 1 Tk FASH 2

41. RS % STER i 1 SARIH=/3TRE 8-
(a) I I T HE
(b) T = < &1 FaH
(c) =fa & fewvr &1 egva & o wad
T
(d) == =t gwpa &

42, YHH T YIS HI &l L 1 GIAH HLl €,
e 3 Ge/emum € 9 g A |
5 9 B AR U9 h Y U |
FHH-H-FH Th T F7d 8L HIE 5 T A
FE B, A o8 fohay qlenl § YT '

Hehdl 27
(a) 1465 (b) 1824
(©) 2250 (d) 1750

43, i, s IR 0 % U F£B o 2 A
AUl et e S W ar ®, S ero
IR 1 e feee 99 w1 <1 21 oW & u
37e S B T SHRI S Teww 9 et 2
I 2, oo ww o oF o ®, feed
3T YESE H ot ARk wf W emfue
YT SR 9 h1 SRR R & <A
A 51 T ©, @ At A fepat i (T W)

eI i off?
(@) 42 (b) 39
(©) 34 (d) 36
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44. 73 3H # e 2, forden s i 9) 9§
w0 g = & 1 Z o @R SR T

3Tl ot feafq oo o ot Hem & A 9
Bl 71 Z & forad 9 8 9Fd 27
(@) 18 (b) 14
(© 13 (d) 16

45. 1234567891011............67 3iehl aTcll T&
=l 5 9 faqfsq +0 | 99%a @ RIS
(@ 1 (b) 4
(c) 3 (d) o

46. W& A fohad 9HA H 600 ToRHt 61 T 7 A
Herdl ©, A% ¢ &1 T, R 1 TG H 25%
HAfeh © 3R HR H1 T, TH Ik 1 MG 9
20% @ifues 8, 5 18 52 H 640 fopedt 1 g 7
el €, frad 22 150 foreit & o 9% 30 fime
% foau Tahdt 2
(@) 9 ¥ 36 fe  (b) 10 ¥ 20 fie
() 10 =2 (d) 7 = 30 fie

Trfataa 4 (IIR) weien & fag fde:
Frrefefaa & afessl i ufew ik Ti=ssl &
M o YIS & SR IS 39 gen & faw
MUE I Fad 3 UR=sdl W & nafa e
el

uftese - 1
Wedred (3Hfeeq) , fae ik FamrR 9ra o oot |
93 ® Tafas ared (o) &l ATH & forg <
i URE # © B! A E Il I wE & foaw fam wi
SMEYIHAT BN BTeAlfeh, 3TUeiiehd ¢ giufa o
% i IR STAa Wifad 1 Aderd € 6
Senl SN TTSUwE S fosita e 3 et e 5
&9 & famaioor & forw erqan strenfergeny =1 geard
foepfia =&l &1 )
47. SuIw uRess | ffaled o 9 SH-a1 sTavasw
v fafed @7
(a) S &7 Pl AMH/ATH TR T]H L &
o foxia weel 1 39 & &1 %01 A
% foru wemfea fan s =nfew)
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39. It can be inferred that a metaphor is
(@) Atype of figurative language.
(b) The only poetic device.
(c) Not precise enough.
(d) A type of flower in a poem.

40. It can be inferred that the true meaning
of the love is a rose metaphor is that

(a) loveisatruejoy.
(b) love comes only once in a lifetime.
(c) loveisnever permanent.

(d) loveisacombination of good and bad
experiences.

41. According to the passage, the poet’s
intention is

(a) torelease anger.
(b) to announce heartache.

(c) toenable you to experience the poet’s
point of view.

(d) toreward the senses.

42. Prabhaas attempts a question paper that
has 3 sections with 5 questions in each
section. If Prabhaas has to attempt any
5 questions, choosing at least one question
from each section, then in how many
ways can he attempt the paper?

(@) 1465 (b) 1824
(c) 2250 (d) 1750

43. Nile, Barney and Sam have some amount
of money. Nile gives half his amount to
Barney, who then gives half of what he
now has to Sam. Sam gives half of what
he now has to Nile, who, now has what
he started with. If the sum of Barney’s
initial amount and twice Sam’s initial
amount is Rs. 51, what was the amount
(inrupees) Nile started with?

@) 42 (b) 39

(c) 34 (d) 36
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44. Zisatwo-digit number whose units digit
is a non-zero and less than four. Z is
smaller than twice the number formed by
interchanging the positions of its digits.
How many values can Z take?

(@) 18 (b) 14
() 13 (d) 16

45. Find the remainder of a number of
1234567891011............. 67 digits divide
by 5:
(@) 1 (b) 4
© 3 d 0

46. In how much time can a train cover a
distance of 600 km if speed of train is 25%
more than the speed of car and speed of
car is 20 % more than the speed of a truck
which covers 640 km in 18 hours in which
it takes 30 minute break after every
150 km.

(@) 9hours 36 mins
(b) 10 hours 20 mins
(¢) 10 hours

(d) 7hours 30 mins

Directions for the following (Q.47 to Q.50):
Read the following three passages and answer
the items that follows. Your answers to these
items should be based on the passages only.
Passage - 1

Incentives, investment, and innovation are
driving India’s rapidly increasing Electric
Vehicle (EV) adoption. Finance will be critical
to achieving scale. However, the real and
perceived risks of a relatively new asset class
have meant that financial institutions like
banks and NBFCs have not yet built up their
confidence or capabilities of financing the
sector.

47. Which one of the following is the essential
message implied by the above passage?

(@) For the EV sector to achieve scale,
financial institutions should be
encouraged to hand outloans.
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(b) St i STIAFT IR AT (ShetfarerR) )
TH & W ARl 1 3T S@H i 2 i
arar T T s B
(c) TR & & &7 &l fomuifm &6 &
foTu %gH ISMT =AM dIfeh TaM=Ri i
e et
d) ot & % foauor & o, faia geemt
+I TOH e Aifadl & g sther
T HI ear fawfad & F sy
Bl
ey - 2
%® FUE difgh Fugr AfusR (TEdem) 3k
Shew @ u=el o It gEifieRt 9 oy FHArd 2
I aEEl @ SiHM % SR TH S
Gt e Qi Wl T 43T T e T €,
=Y ‘oS Haqa' § Hefud 9v 3ed &1 T 9
foret off yofd & U IR WrdWe B WM W, 9RA
o TR SRR Hehe @eT B Wehell B T8 BAR
el R ARl ol o foreRTe % SR Tk WSt i
we-fasfaq #6 & wE & fauda gl

48. U] & YR W fFrefafed d§ 9 sH-ar8

& 2?2

1. fomi gru erafee w9 9 wenfea s
1 FAN gt bt fafaeran ot T
®Y W goIferd Y Fehal Bl

2. T A Wil Y Seravemar b
a3 & U @ad 9T &
1 T Bl

3. 0 Urenfifeat uh S % fid T SiA
i Garfea/aidfda T Gehdl €, ST
@i shael &z & Fel & o g 2l

= fRu T L w1 FET R TR W g

(a) a1 X3 (b) et 2 3R 3

(€) ®ad 1 d 1,2 @R 3

ufiesg - 3
20 Tt & sifuenier THE H W1g IR SHE 91K g8
w1 =k <o, foad e <1 & ffaR ®A et o

© Copyright: NMEXT IARAS

21-D

i Tgd-H WA 1 HHA BT TSN T TER
1950 & <WH & AeA ° foi forn fob ww @2
|ty 1 fmior @ 9 oiftfer 91 9 a=n S 9,
TAfaSiell &M 1 ST EWehHY, SR AN e S
wE & fau 3 S w1 Tk favad{ia 9id 39S
e ST w1970 & <1 T ferkien frmanfaa
o are ogd 1 glaen Suere off, 3R e |y
g & o foga Scred w1 e e feww
AT HIT &M BIeieh, 37 <+ i sRarE Srefehifersn
TRTIHE JoEl § gE1 I & foru st 3 9fey =l
IUSS T ol TSI SR dives dqeell sl Feitha
FH & o stavaes MR &l Feedt & § 9 9§
T feam 39 fhamt &1 Fim SOl &1 fashey
A vel, ER S o™ wH B T SR
-9 % A, 9] AR el R e g
% W1 SATIE THEMS YEH0T B @I S SATTh
AR fafae afomdl aeft frdt afEemn & sm o
e frerd frebrerm gt ®, Afhe g8 whe
sfed g T fog TR H1 FHeft oft e Y
1 fH0T 8T e =ifen o

49. =% & STIER TEaH dty 1 fafafead o

Y -1 999 2?2

(a) FEE H FHeH-Hed & fau MR w
eIl it 2

(b) SH TR HI STETIHRA h FES]
foram g ® for st o fmfor feen o,
Fifer 76 o ord wg TEl ot 21

(c) T & 9-U" &I Y Wpfaw &9 9
3 3T T © T 7, e st o
¥ gd o

d) fom s@ onfdfe T W ufvad o &

I FheaE gfaeret S B

50. oG % 3 HYUT F 1 Hew™ ¢ T 39 aY
BRI 1970 % T T 7Y & Ht [9gd SARA

1 3T fewan Iaafea fohan = en?
(a) 359 Fifsd g 2 fof g il o foega &
1 Hidl W R @A S e 1 R
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(b) EV adoption and scalability depend
upon the capacity of the country to
pursue innovations in this field.

(c) The government should step in to
finance the EV sector such that
innovations are incentivised.

(d) For financing the EV segment,
financial institutions need to develop
the capabilities to accurately
calculate the risks involved.

Passage - 2
A few firms profit from the intellectual
property rights (IPR) and technology
connected to GM foods. Since businesses may
now claim a patent on a whole species by
modifying a single gene inside the genome, this
raises questions regarding “seed sovereignty.”
Once any of these types are made public, India
can see severe IPR unrest. This would be
contrary to the efforts made by our ancestors
to co-evolve a species during millions of years

of evolution.

48. Based on the passage, which of the
followingis/ are implied?

1. Using seeds which are genetically
modified by corporations can impair
species diversity.

2. We need to conduct independent
studies to verify the efficiency of GM
technology.

3. The technologies which can edit one
gene within a genome are owned
only by a few corporations.

Select the correct answer using the code

given below.

(@) 1and3only (b) 2 and 3 only

(c) lonly (d)1,2and 3

Passage - 3

A cycle of floods followed by drought that
lasted for a large portion of the 20th century
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caused great misery among the people living
along the Nile River. The Egyptian government
decided in the middle of the 1950s that
constructing a sizable dam would avoid yearly
floods, provide hydroelectric power, and
provide a reliable source of freshwater for
citizens and agricultural endeavours. Most
Egyptian communities had electricity by the
1970s, and the Aswan Dam supplied almost
half of Egypt’s overall electricity output.

These advantages, however, were offset by
negative long-term effects. For example, the
dam prevents silt, essential for renewing the
minerals and nutrients that make land fertile,
from flowing to downstream lands. Farmers
have had to substitute artificial fertilizers,
reducing profits and causing pervasive
chemical pollution with deleterious effects for
the nearby human, animal, and plant
populations. It is difficult to draw definite
conclusions about a project with such
profound and varied results, but it would be
untenable to assert that the Egyptian
government should never have built the
Aswan Dam.

49. The passage implies which of the
following are the effects of the Aswan
Dam?

(@) Cropsneedsilt in order to flourish.

(b) Farmers are glad that the dam was
built, despite the need to purchase
fertilizer, because the river no longer
floods.

(c) The land around the river is not as
naturally fertile as it was before the
dam was built.

(d) Egyptnow competes successfully on

economic level with western nations.

50. What is the significance of the author’s
statement that the dam generated half of
Egypt’s output of electricity by the 1970s?

(@) Itprovesthat Egyptnolonger needed
to rely on other sources of electricity.
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(b) T FY BN I TENwH gl w1 53, FreAfafed § § ®F P w1 G 8 gehdl €2
e I WG H@ 2 (@) N
(€) d% 3@ a1 W 9 a1 ¢ foF Gwmeasw b) M
Tl IR foRet ot THReE e |
aferss wewel 2 © Q .
(d) == zwim & for afy grfaes Sefal @ () 7w A
HH T 54. 6 =AfwAl § THU G BT HH 2?2
51. frefafen e § q@ wen [ FH () M (b) N
6 17 21 ? 304 3429 (o O (d R
NN N P N
@ s8 ) 44 55. T ‘2’ fwE wew €, fowe qdu yfafa,
S 407 T S H feord e €, g Sl
(c) 48 (d) 56 1 9 | SEe W S HEeT W 45 Ak 8
52. N ® TH THS F A9 WA s | STt 1
@ 3R Aigt 3R Frer ™ R HE A RIS
. . (a) 83 (b) 49
K - % (©) 86 (d) sipe sroata ¥
ARy o i 9H W g8 S e m 56. =l SR AT HI a3 40 =9 B AR
8750 e et ol siferan g wiaeenfua fepean < €, @t
@ e ®) 843 S @ 37 7 B R § sk At e
_ _ siferan gR1 wiceenfud femen Stan 2, o ot
@ [oeie? (@) 2 o 43 o B S 31 AR g i do @
s o e, o SR s st
et (w.53-54): 6 =fwmaAl (M, N, O, P, Q 3 1 et B, weft i sfwal w1 lwa
SR R) 1 S ST-STe oW | gl o 1945, a1
1951, 1957, 1959, 1968 3R 1979 | Th! 211g i @ 32 (b) 34
TOMT et 2023 H SAER W T T 7 © 26 ) 315
Frefeafem germelt W fem i 57. T TR, fore e 135 e # e

() fom =afe & 98 o =X 7, 396 g 11 H
T B

(i) Q, M ¥ B SR P ¥ 7 2

(iii) Q, P ¥ 6 a¥ =T 2l

(iv) M @R P &1 31g % s 1 3R Q IR R &
I & o H AR Y 4 99 s 2

(v) P &t 3 N &I 3 &1 1.5 T 2l
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(b) Itdemonstrates the magnitude of the
positive effects created by the dam.

(c) It argues that the positive energy
output is more important than any
negative effects.

(d) It shows that the dam fell short of
initial expectations.

51. Find the missing number in the following

series:

16 17 21 ? 304 3429
NN N N N
(@) 58 (b) 44

(c) 48 (d) 56

52. A piece of paper is folded and cut as
shown below in the question figures.
Indicate how it will appear when opened.

LB

(a) |°5.°8] b) koig

© [%0i9°) @ |22

Directions for the following (Q.53 to Q.54):

6 Persons (M, N, O, P, Q and R) are born in
different years - 1945, 1951, 1957, 1959, 1968
and 1979. Their ages are calculated on the base
of year 2023.

Consider the following information:

(i) Person with vowel as his name has
multiple of 11 as his age.

(i) Qisyounger than M & older than P.
(iif) Q is older than P by 6 years.

(iv) The difference between ages of M and P
is 4 years more than difference between
ages of Q and R.

(v) Age of Pis1.5times of age of N.

O©cCopyrightt NMEXT IAS

53.

54.

55.

56.

57.

24 -D

Who of the following could be P’s son?
(@ N

(b) M

() Q

(d) None of the above

Who is the second youngest among the

6 persons?
(@) M (b) N
(¢ O (d) R

There is a ‘2" digit number whose mirror
image when the mirror is located to its
North exceeds the number formed by
interchanging its digits by 45. Find the
number.

(@) 83

(b) 49
(c) 86
(

d) Insufficient data

The average age of Nandni and Anand is
40 years. If Ankita replaces Nandni, the
average age becomes 37 years and if
Ankita replaces Anand, then the average
age becomes 43 years. If the average age
of Dhruv and Ishaan is half of the
average age of Nandni, Anand and
Ankita, then the average age of all the five
peopleis:

(@) 32years (b) 34 years

(c) 26years (d) 31.5 years

Rajdhani Express having length 135 m
and Vande Bharat Express having length 145
m are moving in opposite direction. They
enter into a tunnel which has length equal
to the sum of lengths of both trains. Trains
meet each other after 14 seconds of entering
in the tunnel. They have their speeds in the
ratio of 7 : 3. What will be the status of
Rajdhani Express with respect to its tunnel
entrance when it meets the Vande Bharat
Express?
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(@) T T F 3% st o
% T R

(b) = T e ¥ G H I 7 AN G H
Yol R ¥ g0 THA! Ta1S hl AN
45% 7

() 78 i T § G & S B AR g B
YR SR W Tl SE! AR H e
27% &

(d) TSYTT TEEYE 4%% areft ot I
% T R
Trfatea 4 (IR) weivn & fog

foreferfad =r wfee #1 Ufen ik e A
et YA % IR AT 37 GEAISH W 3T I
Fael u=RR W NHid e =ifeu)
ufese - 1

et faferca U9eR 39 ad ¥ weWd © fF ed
Hi-SAfads (FyHE 3 9§ 4 & &) & YEK
1 HH HE AR 3T e § GUR W A Higa
FE I EIHRA ¢l I @WRed &\ W,
IR WE F (TSR, Sel sk fafay smR
1 A TRl ST B 3R e i haleg/ v
T A W1 ], IR € Tkl ¢ G hicd
A 39 ATHFH & wid gfteswion § sgere ?1 AR
% g T SR wEd asl o, s & o
TEEHT 9 IS g Bl W8-S9 TH IRER SR
Bl Sl 8, A SHe! 1Mo HeEdl o 3R iy
Hrdelia fafafeEt i ST W@ H ggia wH s
St 21

58. ST Uf=R] & MUR W F=fafaad aromd
I T T
1. frafaa wfafafa et wifaw &
H-eEfads (SRfeds & aaoi) @t
Uk | We™w 8 HWehd B

2. M H Wi-safads 1 YEEH

e ¥ afE T iR sy T B
o TR S Hh
© Copyright: IEXT IAS
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frefefad o @S- SUg®  aRom/ERemy
B/2?

(a) =ad 1 (b) ®ad 2
€ 1eR23A  (d)=Fdr1, 782
TR=T - 2

WHR HEaaH-Hefed kel a1 Gaemol & Heam
Y wgd-9 ferm-fawfoa/snenfa 2o dar w2 @ @
R ST STANT SIS 1 HYFEd HH a1 GUR
FE % I A W2, 79 TR T O =k I
T @1 S @l | S % forg gt Hifq §
Hfgest & AfHRR &l T&AIN | o & foaw t8
22 H1 SHifee 3R AG-T4 F1 GodAlhT w1 o1
STHTEHE, TGN 9 Jedich WEsierarst o sfwa
3R Tgel &1 I 2
59. Uft=sg & oMuR W, frfofaa ® @ wiA-w
ol oy e 272
(a) uREMH AlEest & SRl Ft g
% FHEM 3R GUR i fEen o T weH
2
(b) T e we, S T R
g, afgensti 1 fimd & foe fre 9 o
T 2
(©) 2 T i e %1 i wEe
T TEA I TSI FA ¢, G SThRT
TS fefa S Sadt 2
(d) T I ferm-smenfa (Faedfam) <fifg &=
g ¥ frafy w9 9 = g =feu

=g - 3

B IS A A genet & ufd Hogeiel €1 wfehe
STET & WY, TR & 9gd T I1 9gd 3 dIHH
o od THT a% T R STHT gl (W) FA
1 & § w37 W 21 S HeH & Hueh § o1
W HD IG5 A b1 STEuIfHE € Tk €1 e
IR & sfafter qromE § fee 1 wed 2, fode
@ A He 3R TN 7 eF W I8 6% @
kel B
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Which of the following is/are valid
(@) 3%% of Rajdhani Express is still assumptions?
outside the tunnel. (a) Tonly (b) 2 only

(b) Itis fully inside the tunnel and the
gap is approximately 45% its length
from the entrance of the tunnel.

(c) It is fully inside the tunnel and the
gap is approximately 27 % its length
from the entrance of the tunnel.

(d) 4%% of Rajdhani Express is still
outside the tunnel.
Directions for the following (Q.58 to Q.61):

Read the following four passages and answer
the items that follows. Your answers to these

items should be based on the passages only.
Passage - 1

All medical professionals agree that we need
to concentrate on reducing the prevalence of
pre-diabetes and improving its management.
On the preventive health front, a traditional
kitchen revival, where a more diverse diet is
practiced, and rice does not form the centre
piece, may help. The more difficult challenge
is the attitudinal shift towards movement.
In many rural and urban areas in India,
physical work is linked with class hierarchy.
A family’s ability to hire more aid and maintain
more functioning motions decreases as they

grow richer.

58. On the basis of the above passage, the
following assumptions have been made:

1. Regular movement and physical
work may help prevent pre-diabetes.

2. It is important to manage pre-
diabetes in people to prevent it from
turning into something more serious.

© Copyright: MIEXT IRAS
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() Bothland2  (d) Neither1nor2

Passage - 2
The government is generating a plethora of
gender- disaggregated data through either
implementation-related statistics or through
surveys and using them to inform or reform
schemes, thus perpetuating a virtuous cycle.
It is now the onus of individuals and groups
in academia, research and evaluation
consultancies to conduct audits and third-
party assessments of such data to further
mainstream women’s rights in public policy

for janhit.

59. Based on the passage, which one of the

following is the most valid conclusion?

(@) Quantification is a step towards
resolution and rectification of
women’s rights challenges.

(b) The statistical architecture of the

nation as we knew it has been rebuilt

to count women.

(c) Use of data fortifies women’s access
to economic resources thus elevating

their social status.

(d) Gender

seamlessly pervade every sphere of

mainstreaming must

state policy.

Passage - 3

Everyone is sensitive to extreme weather
conditions. But with age, the body may become
less able to respond to long exposure to very
hot or very cold temperatures. Some older
people might develop hypothermia when
exposed to cold weather. Hypothermia is a
drop ininternal body temperature, which can
be fatal if not detected and treated.
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60. Ui=se ford HeA 1 Faifers GHeH HLdl 22

(a) T HEH F o | I 9HE g5 A
% fou s @ B

(b) e T T fefd 3, St ot g%
QT ol g et @l

(c) T Ve ¥ WA a g8 @ 3t
Ser H ©H are 9§ @M &t gard |
Afereh ey B €

(d) Tk g AfE F g H g5 ATE
TRt % ufq sifus aasiier g
Bl

ui=e - 4

T TN SehiATH SO i SAEEes WHIfG gq9n
HHAAEAN 1 Th o1 ol (WE) Suers @ *
et forem W et eidt 21 fR Gansti ) aeerd
AT 1 GUESH Afaeh/ASeY ® T9 YT SR o
o smar 21 gfrel w0 oogfd o fRR 9fs &=
yfomEEy ST e wiaegt SR wE A
TR I HI Al qeaar el ¢ fhe wafEr
FY A W YW YSH H Hehdl ©, ToEd S
A wfagleal 9 o fiher @R SR § ST
TR T@itd e § Heg fierdt 2|

61. SWIH I=RR & SMUR W ffafad uromd

TIE T €

1. AR Tt fr-sepmrd wut | o=
® & FH BH oW, 9 Fa9E &
TR Bl Gehall Bl

2. fim-zAH Afed & Ak Iwaargas
SIVEERIES IR RIS NI
ST Y S Hehel €1

Frrefefea o 9 SF-gt 9Y aRo/ERemd 278 ?
(a) =ad 1 (b) &aa 2
© 1eR2A (@ Fd 1,82

62. Ik wH fifved % w1 & “HEAR"” i
“825118" % &9 H FHeag fwar Sl & @K
“RIDE" &1 “1881165" & &9 | sheas fha
ST €, < 39 o9 § “RACE” 1 9 gas
foran ST ?
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63.

64.

(a) 18165
(c) 181195

200 1 IR 9FT § 39 @@ ¥ faafaa wifse
o o gaia 9ot & & 3R e am qen de
AT 1 OAEA = & AT & PERA 9
72 SfyeR =i
(a) 4448,52,56
(©) 32,50,68,86
I€ HH B Wik W& HiA-d 7, e
7 @R 11 9 fauwfsa & W wA9: 5 @R 7
I o= 72

(@) 29 (b) 33
(c) 40 (d) 41

(b) 1811065
(d) 18195

(b) 41,47,53,59
(d) 38,44,50,56

U9 (65-66) = ferw fder:
frafafaa wat w faum wtfsu:

1.
y
3.
4,

65.

66.

67.

68.

27-D

B & 3 A &1 3 1 dF T 2l
D I 3 A i 31 %1 aneh B
Dt &g C i g ° <A R

B I 3T E I 31 %I TH-Ta=r 2
I 9 S Fod 991 B2

@ B (b) C

(© D d E

T 9 S gl B 87

@ A (b) B

(© D d) C
yeAfag (?) & TF & G AA SIS

214 60
116
416| ?

(b) 180
(d) 200

(@) 150
() 196

A 7 %t UGSt 1 TR wa 99 & urEd
fewt 7 & forw A ffan, B 3 5 ISt o1
TH-TIUE | G0 % D3d T 9% & fog
fraw ffan, sif ==t g€ Ioit C 3 99 gT
g & fere femt 11 9t e as T 8710
g, a B &1 fewwn wm wifem:
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60. The paragraph best supports the (a) 18165 (b) 1811065
statement that (c) 181195 (d) 18195

(@) cold weather is more dangerous for
older people than warm weather.

(b) hypothermia is a condition that only
affects older people.

(c) older people who live in warm
climates are healthier than older
people who live in cold climates.

(d) an older person is more susceptible
to hypothermia than a younger
person.

Passage - 4

A gig economy company’s business strategy
is based on the fundamental idea of always
having a huge pool of employees available. The
shifting demand for services is then matched
with this abundant supply of labour. As a
result of the constant growth in the supply of
labour, there is more competition and a greater
readiness to accept low pay. The platforms
may then offer services at low costs, helping
them to outbid their rivals and establish their

own monopoly in the market.

61. On the basis of the above passage, the
following assumptions have been made:
1. If the pool of employees in a gig-
economy company starts to drop,
business can suffer.
2. Gig-economy models, if run
successfully, can allow a company to
dominate the market.

Which of the following is/are valid
assumptions?

(@) 1 only
(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

62. In a certain code language "HEAR’ is
coded as “825118" and ‘RIDE’ is coded as
1881165 then, how will ' RACE’ be coded
in that language?

O©cCopyrightt NMEXT IAS
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63. Divide 200 into four parts which are in
arithmetic progression such that the
product of the second part and third part
is 72 more than the product of the other
two parts.

(a) 44,48,52,56
(c) 32,50,68,86

64. What is the least natural number which
when divided by 7 and 11 leaves
remainders of 5 and 7 respectively?

(@) 29 (b) 33
(c) 40 (d) 41

(b) 41,47,53,59
(d) 38,44,50,56

Directions for the following (Q.65 to Q.66):
Consider the following statements:

1. B’sageis thrice of A’s age

2. D’sageishalf of A’s age

3. D’sageistwice of C's age

4. B’sageisone-third of E's age

65. Which one among them is eldest?

(@) B (b) C
(€ D (d) E
66. Which one among these is youngest?
(@ A (b) B
(€ D (d) €
67. Find the number in place of *?’
24|60
315|116
416 ?
(a) 150 (b) 180
(c) 196 (d) 200

1 1
68. A invested 3 of the capital for 5 of the

1 1
time, B invested 1 of the capital for 3 of

the time and C invested the rest of the
capital for the rest of the time. Find the
share of B out of a total profit of Rs. 8710.
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(@) 975 (b) 1025 72. A &N A A [ A il §% HH b TS
(c) 1060 (d) 1525 T SN i &< HT &0 I, @t I Ik
U9 (69-70) = few fado: T R gma arar?
e =t J,K,L,M,N 3t O & ehioig ae & (@) 8% (b) 9 =2
=R} 3R oS €| A ATk U % HIAl WS Bl AR . .
He d) 7 =2
qQ T oS €, afch areht ol fohari o we o © 10 @7
%% W 9 Bl AR @ Hh 93 B 73. '*' fag & yfaeenfoa & & fow i
J, M & o 3R &R & W a3 81 N, O & <[ gl & wEt WS 1 =EH i IR fXe Ty
IR T T W 931 71 K 3R L & o= 1 =afh T i e Fif
FSRIN, L & o IR @ T W 91 ¢ 3 *% o1 % 4% 15613 * 11 - 83
T 9 F AR SqE 2
(a) -+, X, + (b) X, +,+, -
69. Frfafad § @ wF-w g arfewar 9 fir 27 Q) x, -+ + (d) + +, -, x
(@) J&L (b) N&M : :
74. = fru T O WA 3 Fud Ky
(€ O&K (d) M&L
3R ST o8 % Tk wAifERd e Tw )

70. Frefafad & 4 SH-91 HoH 9 2?2
(@) O @R L % o= 3 =afw o3 B
(b) JR N & = T =fh a1 2
(© L,O & aE X T M W o 2l
d) O #RJ % q@ ux & faon # 2

wed (71-72) & fem fader:

T 3% H A [H e (S w9 fBx) €, o 5@
HU: 24 ¥ 3R 120/7 W W 9 Fehd B 1 TEH 1A
B H T U 8 (Sd g f85) &1 =Fawen
#I T 7, foERl (S el e i emar)
TR B | S A Wieft 3ok i W & fory gy @i,
Fifeh 98 1 o AT 3T Y, TUd ST |
=M T2 fen Siifer gem gam ol /B T 918 39
WM TTIH I 39 GHA §% T, 5 I W=
Y Y W (@ AN FE @1 T o qEY H A9 wA
% 9] I 2.5 HS W (A1 NS Gl BH &
HROT) Weft & T

71. Ta-TAMUA STITHT HT &0 TN RIS
(a) 8.2 ffex wfasa
(b) 8.8 wftex wfasa
(c) 9.6 wftex wfasa
(d) 8 e gfasiar
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75.

29 -D

Rt T T FoA G TEAT €, A &
9 |EFA: 9 a9 9 udta sid gl asft
Fremel =1 wfey et fire fofg wfifse fr fao
Tu frerl § § wH-T1 frsed o Tu et
1 dlfeheh &9 W STTEROT Hdl B

HIA: HIE Telet el TEl 2

FS AR w2

B [ e 2

frrens:

A - i ol A s o
I % Q& diel T TH T F96T 2
(a) I I STTHOT I 2l

(b) waet 11 3R [ ST F T

(c) haet I ST HIdl 2|

(d) =0l I = II SFERoT il 2l

= T T w9 9 ww weH SR SH® W%
I 3R 11 wHifeha & Freshd fRw 7w €1 et
Fo § @ T gl Al g " R,
T Frreshel T weRETel TR e € SR ol
O R o ST @ RA-T oA T S
¥ 3fed HW® ¥ W qMhed ®T § ST
T B
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(@) 975
(c) 1060

(b) 1025
(d) 1525

Directions for the following (Q.69 to Q.70):

Six persons J, K, L, M, N and O sit around a
triangular table. Three persons sit at the corner
of the table facing inside the centre, while the
rest seat in the middle of the edge facing
outside the centre.

] sits second to the left of M. N sits second to
the right of O. Two persons sit between K and
L. N sits second to the left of L and faces outside
the centre.

69. Which among the following pair is odd

from the rest?
(@) J&L (b) N&M
(c) O&K (d M&L

70. Which of the following statements is true?
(@) Two persons sit between O and L.
(b) One person sits between J and N.
(c) Lsits second to the left of O.

(d) O and] face in the same direction.

Directions for (71-72): A tank has two old
inlets which can fill it in 24 hrs and
120/7 hours respectively. A new outlet was
recently installed whose rate is unknown.
Brahma opened the pipes to fill the empty tank,
since he was new he had not noticed the newly
installed outlet which was open. After
sometime he closed the old inlets at a time when
the tank would be normally full. From that
time it was observed that the tank got emptied
(due to new outlet being open) in 2.5 hours.
Answer the following questions:

71. Find the capacity of newly installed outlet.
(@) 8.21trs per hour
(b) 8.81trs per hour
(c) 9.6 ltrs per hour
(d) 8ltrs per hour

© Copyright: MIEXT IRAS
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72. Ifinstead of closing the two old inlets had
Brahma closed new outlet, what would
be the time taken to fill the remaining

tank?
(@) 8Hours (b) 9Hours
(c) 10Hours (d) 7Hours

73. Select the correct combination of
mathematical signs to replace the “* “signs
and balance the given equation.

21 *4*156*13 * 11 = 83
(b) XI +r +1 -
(d) +/ +r = x

(a) -, X, +
(C) X, - +, +
74. In each of the questions below some
statements are given followed by some
Conclusions numbered. You have to take
the given statements to be true even if they
seem to be at variance from commonly
known facts. Read all the Conclusions
and then decide which of the given
Conclusions logically follows from the
given statements.
Statements: No pink is yellow
Some orange is yellow
Some grey are pink
Conclusions:
I.  All grey is orange is a possibility
II. Some grey are not yellow is a
possibility
(@) OnlyIfollows
) Only II and I follow
(c) Only II follows
(d) EitherIorII follows

75. In question below is given a statement

=

followed by two conclusions numbered I
and II. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide
which of them logically follows beyond a
reasonable doubt from the information
given in the statement.

www.nextias.com



NEXT IARAS

‘énli%h‘é?-iBiz | All India Open Mock Test-2

76.
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HIA: THR A AhE] T G ®

e & ®9 H g o %3 9 T ot

foritar WMl &1 e W R

e

[. &R fod & & | =Afw &l foemma
H =M § Wd g fada ger &
Friwrent & fgfe S =feu

II. fodii S & 9 & U S g/
foFT S ol forita el o STged e
B =feUl

(a) wae frshd 1 ST 3 2

(b) et Frep 11 STERoT 3 21

() = a1 A Il ST Fel 2l

(d) 1 3R II I STERoT €l

S Z & Thad wHwiiEl A feREE. @6

foreheq <12

g

I 950 sIfeehr} Wert & swe=nfal ¥ 9 18%
3R 1100 37 Gerf & wH=1fEAl & A 6%
7 dtemTAH fased A

I 51 @ 56 Mg @ & 28% Hu=IiEl eiX
3= et o TRl & 17% Hu=a 3
ILIRTHE. &1 fakeq I

(a) @%d | T 2, Safe 11 etshel waiw
T R

(b) 1 s1hen Ta €, SEfsh [ STohen qafw

77.

78.

79.

80.

31-D

T 2
() = I @Il v 2
(d) =@ I 3R a2

a3 SAR] Dl & 786 Hl 37T 3 3Tk
& 6M1 | Sl Sl €, df ed =R 3{ehl whi
Hem 13N7 o gt €, s 11 9 favss 21
M + N &1 AF J1d Hifoa|

@) 10 (b) 14
(© 11 (d) 8
T UThd TS % I i WA ;G HIST,
ST U = 5,400 3R HCF = 30 2
(@) 4 (b) 1
(© 2 (d)3

frafafaa o @ frat gt 132 9 fausg &2
598, 462, 792, 4184, 972

(a) ®ad 1 (b) e 2

(c) =ad 3 (d) o 4

TH SHfed &1 9l % fau =i T
6%1’%.111., 8%1%5.111., 10%%.111., &M

3%%&1 o 9 IR e i fasfea

F W FAM T9F b IHS| HI WW JAdH
TEA 1 T Gkl 77
(@) 74
(c) 67
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Statement: Government has spoiled
many top ranking financial institutions by
appointing bureaucrats as Directors of
these institutions.

Conclusions:

I. Government should appoint
Directors of the financial institutes
taking into consideration the
expertise of the person in the area of

finance.

II. The Director of the financial institute
should have expertise commensurate
with the financial work carried out
by the institute.

(@) Only conclusion I follows

(b) Only conclusion II follows

(c) EitherIorII follows

(d) BothIand II follow

How many employees of Bank Z opted
for V.R.S.?

Statements:

I. 18% of the 950 officer cadre
employees and 6% of the 1100 other
cadre employees opted for VRS.

II. 28% of the employees in the age-
group of 51 to 56 and 17% of the
employees in all other age-groups
opted for VRS.

(@) Ialone is sufficient while II alone is
not sufficient

77.

78.

79.

80.

32-D

(b) 1II alone is sufficient while I alone is
not sufficient

(c) EitherIorIlis sufficient

(d) Neither I nor Il is sufficient

When a 3 digit number 786 is added to
another 3 digit number 6M1 we get four
digit number 13N7, which is divisible by
11. Find the value of M + N.

(@) 10 (b) 14

() 11 (d) 8

Find the number of pairs of two natural

numbers having product = 5,400 and
HCF = 30.

(@) 4
(©) 2

(b) 1

(d) 3

How many of the following numbers are
divisible by 132?

598, 462, 792, 4184, 972

(b) 2 only
(d) 4 only

(@) lonly
(c) 3only
What is the minimum number of equal-

weight pieces that can be obtained when
dividing four cakes which were purchased

for a birthday party, weighing 6%kg,
3 1 15
= = nd 3= kg ?

84kg, 102kg,a d 316kg.

(b) 66
(d) 80

(@) 74
(c) 67
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SCIENCE TECH & GENERAL SCIENCE GOVERNANCE & SECURITY

) 4

Ayaz Khan Sir Mohit Sharma Sir Manjul Tiwari Sir Nitish Sharma Sir
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